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QUESTION 1

Which three cascaded relationship types are supported? (Choose three.)
A. SnapVault from SnapMirror

B. SnapMirror from SnapMirror

C. SnapMirror from SnapVault

D. SnapVault from SnapVault

Correct Answer: ABC

QUESTION 2

A customer is using SnapCenter and they want to see details about: 1.) unprotected databases outside of resource
groups, 2.) databases that have not been backed up during the report period, 3.) databases that belong to a resource
group for which backups have failed, and 4.) the database SnapVault status.

In this scenario, which report type satisfies the requirements?

A. Backup Report

B. Clone Report

C. Plug-in Report

D. Restore Report

Correct Answer: C

QUESTION 3

A customer is planning the cloud strategy for their Microsoft SQL databases and must be able to protect them from
outages. They are planning on using multiple cloud providers for their solution with their current NetApp storage
system.

In this scenario, which two products are required to satisfy their backup management needs? (Choose two.)

A. Cloud Volumes ONTAP

B. SnapCenter

C. CloudSync

D. FlashPool

Correct Answer: AB
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QUESTION 4

Click the Exhibit button.

. Node "aff-02" has some LIFs that are not in their home node.

Action - Action -

Referring to the exhibit, what must be performed on nodes aff-01 and aff-02 to allow them to failover and giveback
properly?

A. Disconnect the HA connection between the nodes.
B. Reboot aff-02 to resolve the LIF issue.

C. No additional action is necessary.

D. Move the LIFs to their home ports.

Correct Answer: D

QUESTION 5

Using SnapCenter 4.0, you are restoring a virtual machine. Which additional tool would be used to monitor the restore?
A. VMware vSphere Web client

B. Virtual Storage Console

C. OnCommand System Manager

D. OnCommand Unified Manager
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Correct Answer: A
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